[SEEH]

1. RHERBHEOHE

{RHERBHEL. LNGELPGOE AT (B SREHE) OEBIHLT,
BA.REHNESBEMO mMHYDRE) ZRETIHETT.

AT RFMEHE (83,350 ") EF R IHEHE (3~54 ARID3, ABDLNGELPGO#M A ffitg) DZEZE100M 12DF,
1m#7=Y 0081 (Fitk) AELET,

2. FHMLGARERAEGIM/A)DSRKEDARRE (FR29F 12 A %EH5)

(1) FHRBHEEDFEE

<LNGF 18 A fifitg > <LPGEH# A fftg >
47570 (/") X 0.9576 + 48,140 (F/*.) X 0.0466 =

= 47,796.356 (M/".)
= 475800 (H/".) XI0ARFHEMERA

(2) FHRAFHTAE & B4 T 1R AHEG S0 Z 88 (REHEE L8138 DEE
< EEF RIS >

< FREHER >
83,350 (/%) -

47,800 (/") = 35,550 (/%)
= 35500 (A/".)

X100 RFEEYIET
QIREHEHMALLEDET
< [FERHEIS L Bh5E > <HBEF=E>
35,500 (/%) X 0.081 (F/m) -

100 (M/*.) X (1

= 3106 (H/m) NN A EIMLUTEY LI

+ 008) = 31.0554 (A/m)

(4) REME B (FA) DETE (—RARBHBHR HERBOBE)
<BEEHAMHE>

<BEBMEHMBEE>
165.96 (F1/m) -

31.06 (A/m)

134.90 (/m)

(B B) FROFEARHI,ORENSEMEEDLLE
<FERK29F 128 DR EF & Ef >

<FErK29F 11 A DR EF & Bl >
134.90 (A/m) -

135.16 (F/m) =

A026 (A/m)

(5) HAFE (FR29E12A1RE 7. Fid)

<EAEE> <fEE R B> <AREAE>
1,560.00 (M/A) + 13490 (A/m) X 31 (m/8) = 5,741.90 (A/R)
= 5741 (M/R) MIARBELIET

Bk



